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In e.g 6, the ounces of fill from the bottling machine are assumed to have a normal
distribution with o2 = 1. Suppose that we plan to select a random sample ten bottles
and measure the amount of fill in each bottle. If these ten observations are used to
calculate f it might be useful to specify an interval of values that will include s? with a
high probability. Find numbers by and b, such that

P(by <s*<b) = 0.90.
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If we take independent samples of size ny = 6 and n, = 10 from two normal

populations with equal variances, find the number b such that
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P(ggb) — 0.95.
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Part c)

Below you can soe a scatter plot of 142 realizations of (X,Y), The correlation
coefficient of X and Y is 0. In other words, they are not correlated
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n in one or

No. While they are uncorrelated, there is a large gap in the centre
of the plot, It suggests that X is unlikely to fall between 45 and 65
when Y is between 40 and 60,
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where 8 is an unknown, positive constant.
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Let Y;. Y2, .-, Y, be a random sample of observations from a uniform distribution with
probability density function f(y;|0) = 1|0, for0 < y; <@andi=1,2,---,n. Find the
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